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Ql

Q2.

Q3

SECTION -1 : General Awareness

The Chairpersons of the Panchayat

at intermediate and district level are:

(A) directly elected by people

(B) elected by the panchayat
members

(C) elected by the Ilegislative
assembly of the State

(D) nominated by the Governor

A is

commanding an inferior court or

a court’s order

public authority to perform an
official duty correctly.

(A)  Writ of Mandamus

(B)  Writ of Quo-Warranto

(C)  Writ of Habeas Corpus

(D)  Writ of Prohibition

Which of the following fundamental

rights is NOT included in Article 19

of the Constitution of India?

(A) Right to freedom of speech
and expression

(B) Right to form associations or
unions

(C) Right to

profession, occupation, trade

practice  any

or business

(D) Right to freedom of thought,

belief and religion

- 1: AGIS MRNISH (WH HIIGI3")

Q1

Q2

Q3

Hoegst w3 g dog 3 dofes ©
OWIUIAS |

(A) O 3 gwrar gE A 96
(B) Jorfes Hggr g ge AT

IS

(C) I fegs AT ©wgr ge He
IS

(D) TAUS DWT STHOE dI3 Ae
Is

_ wWE®3 © gaH Jger I o

JsEMES3 A yefss wEfadt &

AJt 3919 a8 wiftarg3s 38t 596 ©

wen féer J

(A)  HaHA T fae

(B) fag-zdelfae

(C) J=wA JIIuA <t fae

(D) W& fae

IIS Afers @ »ded 19 9 NS

&I I&?

(A) =BT W3 Yde™ & §33I3T T
wfgarg

(B) AAEHS A GoMis HEgE T
witarg

(c) foA O, f&3, =ug A I3gg
I © Wftag

(D) fegg, femem W3 TIH <
Wt T wWigarg

ﬁ
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Q4

Q5

Q6

Q7

Punjab is bordered by which Q4

country?
(A) Afghanistan
(B) China

(C) Pakistan
(D) Tajikistan

According to 2011 census, what is Q5
the population growth percentage of
Punjab?

(A) 13.89%

(B) 15.14%

(C) 19.76%

(D) 23.87%

Which of the following countries Q6
has the most Sikh population?

(A) Canada

(B) Malaysia

(C) Cyprus

(D)  Saudi Arabia

Who among the following certifies Q7
whether a bill is a money bill c;r not?

(A) The Speaker

(B)  The President of India

(C)  The Prime minister of India

(D)  The Vice-president of India

g € A far o0 o8 Baret 37
(A)  WSIMSHSS

(B) di&

(C) ufaA3®

(D) 3IATIAIS

AS 2011 & HITHEHS! © WEH,
UrArg @ weret @0 ©F YStassT et
J?

(A)  13.89%
(B) 15.1L%
(C) 19.76%

(D) 23.87%

foest &9 foam 2n &8 fitd vl A9 3
frmmer 37

(A) A&F

(B) HBHMT

(c) wAfougA

(D) WGl wI"

J fa 3t s us 58 I 7 51 ?

(A) mdEg

(B) I'I3 T IJHSIUIT
(C) I3 T YTS H3IT
(D) II3 T QU-ITHSIUST
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Q8

Q9

Q10

Q11

Which Punjabi folk dance, similar to
the more eminent Bhangra, is
performed by women?

(A)  Jhumar

(B) Gidda

(C) Jaago

(D) Luddi

Which among the following

princely states is not a part of India

after partition in 19477

(A) Patiala

(B) Kapurthala
(C) Faridkot
(D) Bahawalpur

The Upper House i.e. Legislative
Council of Punjab was abolished on

Ist January

(A) 1947

(B) 1952

(C) 1961

(D) 1970

Where is the Annual three-day

Shaheedi Jor Mela held in Punjab?

(A) Gurudwara Hari Mandir
Sahib

(B)  Gurdwara Fatehgarh Sahib

(C)  Gurudwara Baba Atal Sahib

(D)

Gurudwara Sehra Sahib

Q8

Q9

Q10

Q11

Wg3T g Si3T Ae @ a3
Ut 839 &9, 593 HAJD 3 ©
S J7?

(A) B3

(B) foror

(c) &

(D) TS

Jo fefamfes fagdt foAs 1947 &
23 3 gmiE 393 T JA & I?

(A)  Ufenrsr

(B) SYIEH

(C) gdeae

(D) HJI=<BYJI

1 Aot $ Gust Aes
fe3 famir At

(A) 1947

(B) 1952

(C) 1961

(D) 1970

Ty B9 Ase 35 39 mdel AF

NoT {8 wWiAfa3s 3T AT 97
(A)  JIewa Ifared Afag

(B)

J9endT 39y Afa"
(C) JIIEWT g5 W s Hfad

(D)

#
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Q12

Ql13

Q14

i
Q15

A3

Which Sikh Guru introduced Anand Q12
Karaj - which was a special kind of

marriage ceremony?

(A)  Guru Angad

(B)  Guru Amar Das

(C)  Guru Hargobind

(D)  Guru Har Krishan

The most essential operation for Q13

making the soil loose and porous to
a desired depth as per requirement

of the crop is

(A) Clod crushing
(B) Ploughing

(C) Harrowing

(D) Manure mixing

is the birthplace of Q14

Khalsa, a way of identifying or

differentiating the Sikhs.

(A) Takht Sri Damdama Sahib
(B)  Fatehgarh Sahib

(C)  Dukh Nivaran Sahib

(D)  Takht Keshgarh Sahib

Which festival of Punjab

is Ql5

celebrated with a special bonfire?

(A) Lohri

(B) Teeyan

(C)  Chappar Mela
(D)  Guruparab

fam fify Ig & wrde 97 B 13- A

fa i feim Yarg < fonrg & I A
(A)  H g idre At

(B) HI IgWHITH A

(C) #rIg Ifadfde

(D) I IfSfHe it

eAS ©F Tga3 werd Hd § a1t
sHAIIYBEH_ JI

(A) I8 THOET (Clod crushing)

(B) IB TBGE (Ploughing)

(C) 3ISMMRIS (Harrowing)

(D) JF HE fHggs  (Manure

mixing)
_ it & ufgere A 2t UfggTE,
HSBH B HGH ZHT I
IH3 i THEH A"
ef3garg Afas
oY foegs Afag
3Y3 A AfIS

(A)
(B)
(C)
(D)
A © fgggr 3899 uA 33 &
W ES F HeTEmT AT 37

(A)
(B)

(C)
(D) J[YI"
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Q16 A Joint Military Exercise named Q16 393 W3 fegag &g Agr

“Yudh Abhyas 2021” was held

between India and

(A)
(B)
©)
D)

Q17 Punjab means a land of

(A)
(B)
(©)
(D)

Q18 Which two crops are the maximum Q18

cultivated crops in Punjab?

(A)
(B)
(©)
D)

Q19 Who along with Batukeshwar Dutt Q19

threw bomb in central assembly?

(A)
(B)
(©)
(D)

Russia
Israel

Australia

USA

10 rivers
6 rivers
5 rivers

8 rivers

Wheat-Rice
Bazra-Maize
Rice-Maize

Rice-Bazra

Rajguru
Bhagat Singh
Sukhdev

Lala Rajpat Rai

AoT WA ‘tfg wfswe 2021

W3 3T famr H

(A) gH

(B) ferofes

(C) MHSIGMT

(D) YWHE

g e wgg S oadt Il
(A) 10 Sfgwret

(B) 6 Tfgnret

(c) 5 <fowrer

(D) 8 Tfgwret

Uy &g fagdme ers’ & A9 3
g ¥t St A J7

(A) TEI-B&

(B) IHI-Hell
(C) S& -Helt
(D) B&-IgHI

Aegs whAgE f$9 gcdneg ©3 ©

&% faAs =59 Jfewr?
(A)  IHdd

(B) I3 fHw

(C) Hue=

(D) B IJHAYI I

PAPER-4 SERIES-DC
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Q20 Konark Sun temple is situated in (20 degx HIA Hed &g s 3

(A)
(B)
©
(D)

Q21. Pattachitra art form is native to Q21

which of the following states?

(A)
(B)
©)
(D)

Q22 Sand dunes are found in which part (22

Madhya Pradesh

Rajasthan

Arunachal Pradesh

Odisha

Odisha
Assam
Uttar Pradesh

Andhra Pradesh

of Punjab?

(A)  South East
‘ (B)  North West

(C) North East

(D)  South West

Q23  World’s largest solar tree has been (23

(A)
(B)
©)
(D)

installed in which state of India?

Uttarakhand
Assam
West Bengal

Rajasthan

(A)
(B)
(C)
(D)

Ha y2H
JHHAES

WIS YTH
Sy

yefd3g a& T yg I fammfed
fogg = I7?

(A)
(B)
(C)

(D)

G3ar
WHH
T 2

Ay © fan 97 g 33 © &g ue
e I&7

(A)
(B)
(C)
(D)

THE yI=g
§33 UsH
EESRICE|

ToYE UgH

TS T A 3 I ABI I (solar
tree) 3793 © for I 9 AUz di3T
famr 32

(A)
(B)
(C)
(D)

€39z
WHH
UeHt Sars

JHAES
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Q24 The layer acts as an Q24 Ug3s fix wifdy 9% e

invisible shield and protects us from H gget I W3 AS HIA 3 W I
harmful ultraviolet (UV) radiation TJAEId  yIearel fagst  (Uv) 3
from the sun. goger J|
(A) nitrogen (A)  TEHS
(B) argon (B) WIds
(C)  ozone (c) €us
(D)  methane (D) HiEs
Q25 Under which of the following Q25 IJ& fi&fawm T I3t Afeus © faA
articles of the Constitution of India Wgee 3fJ3 FUIH dJc I8 FIIad
does the Supreme court have the e Higs witarg’ § 891 96 Bt i
power to issue a writ for the fge At a9 T wiftarg I?
enforcement of fundamental rights (A) WERE 13
of a citizen?
. (B) W38T 14
(A) Article 13
(B) Article 14 (C) wgex 21
\ (C) Article 21 (D) Waew 32

(D) Article 32
Q26 Which of the following articles of Q26 3331 HAfers T I ST faozT

the Constitution of India directs waee I & I[H Uofest § aifs3

states  to  ‘organize  village 335 w3 BI&" § Hast B¢ T faaen
" panchayats and endow them with fder J7?

power’? (A)  WERE 32

(A) Article 32

(B) Article 36 (B AigESRs

(C) Article 38 (C) Mngse< 38
(D) Article 40 (D)  waEe 40

PAPER-4 SERIES-DC [9]



Q27 Where is Partition Museum located Q27 y3Idtns fHEHMH Uag fo o9

in Punjab?

(A) Ludhiana
(B) Patiala

(C) Chandigarh
(D)  Amritsar

Q28 Which Punjabi Singer sang the Q28

popular song "Jai ho"?

(A)
(B)
©)

(D)

Q29 Which

Sukhwinder Singh
Arijit Singh
Gurdas Maan

Sardool Sikander

scheme by  Punjab (29

government will provide the jobless

individuals to get subsidy on

purchase of 3/4 wheeler vehicles for

self employment? ‘
(A)  Ghar Ghar Rozgar Scheme
" (B) Apni Gaddi Apna Rozgar
Scheme
(C) Punjab Chief = Minister
Scholarship Scheme
(D) Mera Kam Mera Abhiman

Scheme

PAPER-4 SERIES-DC

AfE3 J?

(A)  Bfmrer

(B)  ufewrsr

(C) TG

(D) ifi3Ag

HAgS 3 R I ot Y fam
At grfed & arfenr?

(A)  mufees friy

(B) wifgHiz fAw

(C) JSTHHS

(D) WIS fieied

Urg AISg ©f [JIFt AdH ggrdrd

fonaIMmS AL grdra © BE 3 7 4
U gt & Hdte 96 3 AT

féet J?

(A)  WI WI IS ASH

(B)  WrJEl IS wryEr I AellH
(c) Unae die fHfsAeg Aaradfimy

(D)

ASH

NI™ SH NI™ WfSHS HelTH
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Q30  Which of the following disease is (30

caused by fungi?

(A)
(B)
©)
(D)

Q31 In Laws of reflection of light, the Q31

Ring Worm
Cholera
Tuberculosis

Covid-19

angle of incidence is equal

(A)
(B)
©
(D)

Q32 Waste that decays naturally and ina Q32

way that is not harmful to the

to the angle of incident ray
to the angle of plane
to the angle of reflection

to the angle of refraction

environment is called

(A)
(B)
(©)

(D)

Q33 Who

green waste
recycled waste
blue waste

soil waste

found the literary

Anjuman-i-Punjab?

(A)
(B)
(©)
- (D)

Dr Gottlieb Wilhelm Leitner
Raja Harbans Singh

Rai Mul Singh

Gurmukh Singh

PAPER-4 SERIES-DC

club, Q33

fost &9 faodt farrdt €8 @ a9

Jger 37

(A) TE

(B) Imr

(C) 3ufed

(D) aAfeI-19

YgH € uded3s T feud g,
wystdE _ © g9ed g dl
(A) "yt fags e de

(B) 3IBTAT

(C) UI=eI3sede

(D) WUSI3S T 3T

gg Ide-dor A Feadt I9 3

fewfes det 3 3 for 3913 &8 €9
forg ot fagr Aer 37

(A)  dseHAC

(B) JATed®I AT

(c) =fsgne

(D) AfeF AT

AfI3 I8g wigHs-2-Ude & AEvsT
fars 37

(A) 3. JicteE fesar fgcag

(B) I JIEA fHY

(c) Teys iy

(D) JINH Y



Q34 Human heart has how many Q34 &4 fes &9 s ys I8 Ia?

chamber/s?
(A) 3
(A) 3
(B) 2
B) 2
(c) 1
<€ 1
D L
D) 4 (D)
Q35 The Chief Election Commissioner Q35 I3 © W g oflmed &
of India can be removed from office oI HIRH A9 It uesdt 3
only through the impeachment by Jerfonr 7 Fee I
- (A) HAE
(A) Parliament
(B) IHSIUIN
(B)  President
(C)  Prime Minister (C) e HId
(D)  Supreme Court | (D) HuUSHAIE
SECTION -2 : Quantitative Aptitude and FIr-2: HIIIHI 3™ w3
Numerical Skills AT 3HE &9
Q36 A student multiplied a number by Q36 g fefewgdt & x Aftmr & 11/5 &
5/11 instead of 11/5. What is the gA¢ 5/11 &% Je di37 St et
approximate percentage error in the JeaT 9 weHs3 YItH3 3d<t f&at
calculation made? J?
(A)  51% (A)  51%
(B) L2%

(B) 42%

(C) 79.34% (C) 79.3u%
D 71.5%
(D)  71.5% (D)

——————————————————— e S
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Q37 The given figure represents data (37 @ﬁaﬁmmm
w& TIAGE! AT S9993 €5 &
eI It J| feg wrig3t § A3 3 At
U 3 far & H &8 Ffenr 7T I?

obtained from a grouped frequency
distribution giving test scores of

examinees. What is this figure most

precisely known as?

45 ~
40 -
35
5 %0
25 4
20 A
15 +4
10
54
0 ¥

Frequen

Test Scores

T

T T T T T

445 545 645 745 845 945 104.5

(A)
(B)
©)
D)

Q38 When a plot is sold for 18,700, the (38
owner loses 15%. At what price

must that plot be sold in order to

Scores

Cumulative frequency curve
Line graph

Box Plot

Frequency Polygon

gain 20%?

“ (A %20,400
(B) 16,400
(C) 26,400
(D) 28,400

PAPER-4 SERIES-DC

45 -
40
35
30 A
25
20
15
10 A

5

Frequency

Test Scores

(A)

(B)
(C)
(D)

i T T T ] T w
445 545 645 745 845 945 1045
Scores

(Cumulative frequency curve)

JY" Y (Line graph)

3y fg33 (Box Plot)

g9993" =g (Frequency

Polygon)

e i uge § 218,700 ‘3 =fowr

A 3, 3 HBd § 15% IS It I
20% B8 Yu3 96 B¢ Grg feg fan
He €3 2ge gdier At?

(A) % 20,400

(B) 16,400

(C) ¥ 26,400

(D) ¥ 28,400



Q39 A bank offered a unique loan to Q39 ffg dg & w3 § 10 A& B fx

Q40

-

A3

Abhay of 10 years, wherein the rate
of interest for the first 2 years is 8%,
that for the next 5 years is 12%, and
that for beyond 7 years is 15%. If
the amount that Abhay paid back to
the bank was Z1,87,850 in total,

then the amount that he received as

loan was:

(A) 95,000
(B) 85,000
(C) 84,560
(D) 93,000

The given figure represents. data
obtained from a grouped frequency
distribution giving test scores of
examinees. Estimate the median

score of the distribution.

Test Scores
45 -

2 4

W W S
S G o
. S ENE, |

25
20
15 4
10
5

Frequenc

0 G T L 2

] 1] 1 T
445 545 645 745 845 945 1045
Scores

(A) 745
(B) 795

(C) 80.75
(D) 82.25

PAPER-4 SERIES-DC

Q40

>

Frequenc

45 -
40
35
30
25
20 A
15 4
10 4
5

0

fedus 3a ©F Jman i3, fAne Ko
Ufg® 2 AS" B8 fowd T 8%, "AIS
5 A& BE 12% W3 BAC gmiE 7 AgT
Be 15% J| Adg w3 2 29 § TUA
3G I3 I g8 IIH 21,87,850
A, 3P @A $ 8a © 39 ‘3 yuz I

ISH il

(A) 95,000

(B) ¥85,000

(C) %8u,560

(D) ¥ 93,000

fE3T ardl wif3t Yifemrgahme e

TIA It J| DI T woHs3 Higer
WS U™ o3|

Test Scores

hal ¥ i 1 L L) 2

445 545 645 745 845 945 1045

Scores

(A) 7.5
(B)
(C)

(D)

9.5
80.75
82.25
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Q41

Q42

What fraction is the shaded region?

@l @il ™
-l 1/

NI
B) =
© :
D) =

Ram works 20 hours in a week

(Monday to Friday). Last week he

13

worked - hours on Monday,
15

3 hours on Tuesday, = hours on

Wednesday, and ; hours on

Thursday. How many hours did he

work on Friday?
A)  —
(B)
© =

O —

Q41

Q42

oz ¥39 & ¥ fdat 32

(A)

(B)

(C)

(D)

©olw

IJH g 923 (AHeg 3 Hagdea)
&g 20 W2 IH gge J| fused I=3,
W2 SN Sf3T?

(A —
(B) —
c)

(D) ~—
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Q43 A is 100% more efficient than B. If Q43

Q44

Q45

B can complete a work in 12 days
working alone, then find the number
of days in which A and B can
together finish the work.

(A) 3 days

(B) 6 days

(C) 4/7 days

(D) 4 days

One year ago, a mother was six
times as old as her daughter.

Presently, the age of the mother is
numerically equal to the square of
the age of her daughter. Find the
daughter's present age (in years).

(A 5

(B) 4
(C) 25
(D) 16

In a group of shepherds and their
sheep, the total number of heads are
35 and that of legs are 120. The total

number of sheep are:

(A) 25
(B) 10
(C) 20
(D) 30

Q44

Q45

A, B 3 100% <09 IA% J1 A B frdg
sH sdfenlen siH & 12 fea' i< yar
9 HaeT J, 3t 8 feat < fredt uzr
I ART A3 B HE I G yTr
Jd ASE IS

3 fes

6 fes

() wu/7fes

(D) ufes

fig A ufgst, 8 W & GHa wrust
Y33t &t 6139 8 & = A fow AN,
o S @Hg HAftw3ve 39 '3 GRet
U3dt ©F 81T © <991 © =5I=HT Il
U3t T SI3HE BHI (IS i&9) uzr
3|

(A)

(B)

(A) 5
(B) &
(C) 25
(D) 16

IFIM3 GIst €SI T AHI
f&g, fAg™ < g5 Aftpr 35 I w3 I3t
o d& Afer 120 J1 33T S IS A
fdat 32

(A) 25
(B) 10
(c) 20
(D) 30

e et 5 e e
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Q46. By selling a table at X 2600, a Q46

Q47

Q48

shopkeeper makes a profit of 30%.
At what price should he sell the

table so as to make a loss of 30%?

(A) 22000
(B) 1400
(C) 22100
(D) %1600

How much time will it take for a
sum of ¥ 1000 to give T 250 as

interest at 25% simple interest per

annum?

(A) 2years
(B) 3 years
(C) 1year

(D) 6 months

A and B can complete a work in 20
days, B and C can completp the
work in 10 days, and C and A can
do the same work in 12 days. Find
the time taken to complete the work,

if all three work together.
(A) 8days

(B) 6 days

(C) 30/7 days

(D) 60/7 days

PAPER-4 SERIES-DC

Q47

Q48

i A7 & T 2600 R9 29 A, &
TISET 30% © &I IHET JI 30%
< gl ugE B @A AA § fam
g3 '3 T g A?

(A) %2000
(B) 1400
(C) R 2100
(D) %1600

% 1000 T f8x I '3 Y3t A 25%
AOgE fora '3 fowa &4 2 250 556

&g fdar A SJtar?
(A) 2HA®

(B) 3AS

(C) 1H°3

(D) 6 WJS

A W3 B i a1 § 20 fea' e yar
g9 Ha© Is, B W3 C R & § 10
feat €9 Yyar 59 Aee I, W3 C W3
A BR &1 § 12 fea' 3T a3 Fae Jal
A A9 3 s firg & o s9e I8,
3 SH § YT d9% R B3t AH T uzT
I3

(A) 8fes
(B) 6fes
(c) 30/7fes
(D) 60/7 fea

[17]



Q49 Each side of a polygon is 2.9 cm in Q49

length and its perimeter is 17.4 cm.

How many sides does the polygon
have?

(A) 4

B) o6

< 7

(D) 8

Q50 The given bar graph shows the data Q50
of the expenses by three different
families A, B and C over five

different weekends.

wFamily-A zFamily-B «Family-C

=
<
w
f

3
<

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

What is the difference between the
expense of family C in the 4

weekend and family B in 1%

weekend?
(A) 450
" ®B) 250
(C) 200
(D) 100

WEEKEND 1

gg3d ©F II« IAT T JFE 2.9 cm
w3 forer ufgry 17.4 cm J| SISH

TS BA= I65?
(A) 4
(B) 6
c) 7
(D) 8

e iz &g f3& S9-?9 ufgea™ A, B
W3 C ©WT a3 ydfowmer wiaar
TIAger J|

#Family-A #Family-B = Family-C

WEEKEND 2 WEEKEND3  WEEKEND 4 WEEKEND 5

B8 Te3 © i3 K9 ufgeg C © Ha9
w3 Ufad Je3 e i3 R ufgea B ©
HIo f&g &t wizg I?

(A) 450

(B) 250

(C) 200

(D) 100

e — S e S s

PAPER-4 SERIES-DC
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Q51 The given bar graph shows the data Q51 fZ3™ famrr g9 J[e UA -2 Jefzwm

of the expenses by three different e 3 &g f3a -2y ufgea A, B
families A, B and C over five W3 C ©Nd JI3 HIfowne wagr
different weekends. TIrgT I

SFamify-A:sFamily-8mFamily-C =Family-A =Family-B = Family-C

o
753
™

300
300

:
|

WEEKEND! ~WEEKENDZ WEEKENDS 'WEEKEND4 WEEKEND 3 WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

In which of the following Wee‘kends forafefyz &9 fagx ge3 @ vz g
* was the percentage of rise/fall in Uyfgeg B Sd Ugg JISt gaH 9

expensed amount from the previous TA/ye & YEH33T fugd gefawe

weekends the maximum for family "3 &8 WihasH Al?

B?

(A) S TSI T3
(A) 3" weekend

. (B) TAISIT I
(B) 2™ weekend

(C) 4™ weekend (C) TEISITNI

(D) 1* weekend (D) ufg® ge3 e iz

e ——
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Q52 Shyam studies 3§ hours daily, out Q52
of which he spends 1% hour on
studying Mathematics. How much
time does he spend on studying
other subjects?

(A) 11—70hours
(B) Zf—ohours
©) 1%hours
(D) ZShours

Q53. The average score of Shivani in 5 Q53
subjects is 53. Later on, it was found
that scores in one subject were read
as 41 instead of 51. Find the correct
average score of Shivani. |

© (A) 53
(B) 63
(C) 55
(D) 51 ,
Q54 The sum of the digits of a two-digit (54

number is 8. The difference between
the original number and the number
obtained by reversing the digits is

18. The greater number is:

(A) 26
" ®) 62
) 71
(D) 53

PAPER-4 SERIES-DC

A

A Ierer 3~ W ugre agwr 3, fan
9 g9 afez uge ‘3 12 e sarge
J1 @ I3 fefimr & uge ‘3 o Mt
Barger 37

=

() 1Lue
(B) 2-
(€) 1-uR
(D) 23w

5 fefimmfe fiieal @ WA3 wid 53
&l ImE &g, fog Que § fufewr f
foR fis fen @9 3831 &8 51 § 41
yg fonr famm st @ At WiR3 nid
fd& I57?

(A) 53
(B) 63
(C) &5
(D) 51

< widh Aftmr @ wigt T A7 8 I ¥B
Afgnr @ fegarg wizg 18 I IS
Hftmr U3 3|

(A) 26
(B) 62
(c) n
(D) 53



Q55 A and B together have ¥ 2310. Q55 A w3 B fesifommas 22,310 I5l A A

Q56

4 2
If 15 of A's amount is equal to S of

B's amount, then how much amount

does B have?

(A) 2824
(B) 2462
(C) 2924
(D) 2624

SECTION - 3 : Mental Ability and

Logical Reasoning

In this question, three statements
have been given followed by two
conclusions numbered 1 and II.
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them logically and
follow(s)

information given in the statement.

definitely from the
Statement I : All fruits are good.
Statement II : All good is bad. -
Statement III : All bad are
vegetables.

Conclusion:

I) All bad are fruits.

1) Some vegetables are good
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

(D)  Neither I nor II follows

o 9 T %, B T 9| © g e
g999 J, 37 B I fdat It 972

(A) T 82u

(B) TL62

(C) Ro92u

(D) 624

I - 3 : HSHAT WIr3™ W3 399 War3™

Q56 fom yns 9, 36 a8’ 3 gmie ©

fHS Afer | w3 Hitmr 1| i£2 Je I3
Hee I8, o< fHfewn v fedfowm
ferdme a9 w3 fsgufas a9 fa o=

Aeardl & 399 HI3 w3 forfgs 39

‘I ysE I I

IES | : A 3, Jat IS

JES || - AT 5T, g9 J

FES IIl : AS €9, ASAMTES|

fier

) AI g9, 38 I

) % AEAMN MG

(A) s fier | use gaer 9

(B) des fifcr | Use gIer I

(C) =R I3 IUSE JIT IS

(D) & 3 fier | It Il UBE JIer
3

PAPER-4 SERIES-DC



Q57 Which letter will replace the Q57 fZ3t st 53t g UHS fa§ (?) S 5

Q58

Q59

R e ]

question mark (?) in the ‘given

series?
Hik] [FlIJL ] [pis]v]jc]2 i
(A) D
(B) E
€ F
D) G

Which letter will
question mark (?) in the given

series? C,I, D, P, E, ?

(A) U
B) V
<© X
D) Y

3 fIg7™ wiig wregr?

e n[k| Fl1 L] [Pls[v][e]7 i
(A) D

(B) E

(C) F

(D) G

replace the Q58 f&3t ardt Bt €9 Yo fidg (?) &t &

‘3 faggT wiyg wredr?
C,I,D,P,E,?

(A) U

(B) V

(C) X

(D) Y

Select the number that can replace Q359 €R Fftmr € B a9, 1 J&' 3T B

the question mark (?) in the

following series.

1,4,9, 16, 25, ?

(A) 36
(B) 35
(C) 30
(D) 26

PAPER-4 SERIES-DC

&g yrs g (?) & 5 3 A< I

1, 4, 9,16,25, 7

(A) 36
(B) 35
(C) 30
(D) 26
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Q60 A and B start from same point. A Q60 A w3 B & v I I8 g dI¢ I|

walks 30 m South then turns west A BHE €% 30 m 98T J fag UgH =5
and walks 40 m, then turns to his HZ J 4O m BB I, fag 8T wuE ¥e
left and walks 50 m. At the same HIT I W3 50 m TS J| R 7, B
time, B walks 80 m South. Where is YT €% 80 m I&T J| A © AfESt @
B now with respect to the position Hegs g B g= fag 37

of A?

(A) B, AR USHEZ LOm I
(A) Bis40 m to the West of A.

(B) B is 50 m to the East of A. (B) B,AégHHEBSOmQI

(C) Bis30mtothe West of A. (C) B ATUSHSB 30 m I

(D) B is 40 m to the East of A. y
(D) B ATYIT B LOm I

Q61 Three different positions of the Q61 IJ&" g T yA emmfs Fy-2y
same dice are shown below. Which AfESwofearem e s | s 83
of the following statements s FEw &9 fagzr Agat 39 ‘3 A I?

« necessarily true?

P EDEE

(A) # and @ are on adjacent (A)  #W3 @ B9 259 I5|
. faces.
(B) % and * are on opposite (B) % W3 feath g8 I&|
faces.
(C) % and & are on opposite (C) ¥ W3 & feIdt g8d I5|
faces. '
(D) & and $ are on adjacent (D) &3 $ BIE B Io|
faces.
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Q62

Q63

In this question, a statement has (62

been given followed by two

conclusions numbered 1 and II.
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and

definitely  follow(s) from* the

information given in the statements.

Statement: All sharks are fish. No

fish is a whale.

Conclusion :

I: No whale is a shark.
IT:  All sharks are whales.
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows
(D)  Neither I nor II follows

Find the missing term in the Q63

following letter series:

LKJ,  ,DCB,ZYX
(A) HGF
(B) IHG
(C) GHI
(D) GFE

for Yy f<o,fa sa6 3 gmie © i
Hitpor | w3 Afepr 1) iE3 912 I FES
o< fifower fedfowtfendnas a9 w3
fsaufas a9 fa o< &9 fagz fifer
g &g &3t 91E Aeadt € 399
HI3 w3 forfos 33 ‘3 usE ager
3

FHS: AGMTASST, HeMIs| Jgt <
Hel, 2B &t Jl

fHer .

1. I8 &G, 7SI o I

Ih:  AGMDISE, 2 I

(A) 3= e | Uge a9 J

(B) = fifer Il yge g7 I

(C) TRfAS I3 I UBE JIT IS

(D) & 3 fifer | &t Il User JITr

3
3
LKJ, _____, DCB, ZYX
(A) HGF
(B) IHG
(C) GHI
(D) GFE

PAPER-4 SERIES-DC



Q64  Select the answer figure that can Q64 €9 €39 fg39 ge 7 I &3 Mifimr

replace the question mark (?) in the

series given in the problem figure.
Problem Fig,
RIES

A B C D E

Answer Fig.

B

1 2 3 4
A 1

B) 2

C) 3

D) 4

Q65 Select the answer figure that can
replace the question mark (?) in the
series given in the problem figure.

Problem Fig.

o] =% -

WA

C D E

N | A

A

Answer Fig,.

W

1 2 3 3
A) 1
B) 2
©) 3
D) 4

fi39 e Rt ot @ yris s (2) &
g & Al
Problem Fig.

< | A

A B & D E

Answer Fig.

1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &
Q65 €3I €39 fid3g g& A I f£3 mifimr
fg3g fRe 31 831 © Yy fids (7) &
g 3 7|

Problem Fig.

kS

A
Answer Fig,.

=
|

G D E

Y | N4 | - | ey
(Al) | 2 3 4
(B) 2
(C) 3
(D) L

PAPER-4 SERIES-DC
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Q66  Select the option that can replace the Q66 €3 fea®y T& A TS f‘ag; (?) S =
~ question mark (?) and complete the & Foer I w3 St fo3a 3t § uor
given figure series. 39 Aee" JI

TR (DR
T

PAPER-4 SERIES-DC [26]



Q67 Study the given diagram carefully Q67 f&3 & Ifeqrr =T fiwrsysed

and answer the question that wimls g w3 Ug Je yrAs T €39
follows. feg|
Dancers
Dancers
20
20
11 15 11 15
9 9
8 12 10 8 12 10
Married Married

Educated Educated

uz-f83  fowd IAIT (educated
married dancers) ©F At fISH 32

What is the number of edﬁcated

. married dancers?

@) 9 -
B) 11 O
©) 12 () 12
D) 20 : (D) 20
Q68, Arrange the following words in a Q68 dJI&' &3 maet § B wIaYIS 3I3MH
meaningful sequence and then &g feenfas a9 w3 39 AT 3 g1
choose the most appropriate 333" gel
sequence. 1. NY e gt
i Preparation for match | 5 it Y3 F5&
¢ 2 Receive the trophy
3 <H
2. Toss .
L. fAsE
4 Win
5. HIAHS SIS
3 Compete ‘
(A) 1,3, 5,4,2 (A) 1, 3., 5, LI-,2
‘(B) 3,1,4,52 (B) 3,1,4,5,2
(C) 3,1,5,4,2 (C) 3,1,5 04 2
D) 1,5,2,4,3 (D) 1,52, 4,3

PAPER-4 SERIES-DC [27]
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Q69 Find the missing term in the Q69

following letter series:

bc b cc bc b

(A) Cbbc
(B) Beceb
(C) Bbcc
(D) Ccbb

Sashi and Sakshi are a couple.
Sakshi's sister Sunita is married to
Akash and is the daughter-in-law of
Hema, the mother of Sashi. How is
Hema related to Sakshi?

(A)  Sister

(B)  Mother-in-law

(C) Daughter-in-law

(D) Daughter

Study the following arrangement
carefully and answer the question
given below:

‘P x Q° means ‘P is the sister of Q’
‘P - Q’ means ‘P is the motherof Q’
‘P + Q* means ‘P is the brother of
Q’

‘P + Q* means ‘P is the son of Q’
Which of the following means 'S is
the husband of J'?

(A) IJxD-A+S

B) J-D+AxS

C J-D+A=+S

(D) J+DxA+S

Q70

Q71

9
bc_b_cc_bc_b
(A)  Cbbc

(B)  Bccb

(C) Bbce

(D) Ccbb

A w3 wert g feergst A7 J
A & 3T HoI3T T fowg v
&S Jfanr I w3 G AH € o, et
&3 I IH T AH &8 &t fgA3T I?

(A) ST

(B) HA

(c) &g

(D)

&3t I8t 3931 © s &8 witmls
33 w3 Jot €3 e = §53 e

‘PxQ EWIHI P, QST
‘P-Q TWIEI P, QB HI I
‘P+Q EWIEI P, QT ITI
‘P:Q ENWIHFI P, QT YT I
Jo s famer wag I 's, J &
ust 2

(A) JxD-A+S

(B) J-D:AxS

(C) J-D+A=S

(D) J+DxA+S

lw

PAPER-4 SERIES-DC
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Q72 If

the digits in the number Q72 AT AfMIT ‘649573281 T Wi §
'649573281" are arranged in

ascending order, then how many

digits remain in the same place?

(A)
(B)
(©)
(D)

One
Two
Three

Four

o 9y R feenfas a3 famr 37
fd& wig wug A AFs 3 Ifgsdt?

(A) &
(B) T

(c) f3a
(D) UTd

Q73 Which of the following answer Q73 J&7 fEfswmfed fagdt €39 wigst,

figure completes the series of the

question figure?

+oAax||x+0allax+o|l0ax+|| 2
XO A +
(A)
+ 0 A X
(B)
A+ OX
(©)
; +AXO
(D)

PAPER-4 SERIES-DC
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yrs w3t € &3t § ydt aaet 97

+0AX||X+0A||AX+0||OAX+ ?

XO A+

(A)

+0O A X

(B)

A+ OX

(C)

+AXO

(D)




Q74

Q75

Select the number that will come

next in the following series.

34,18,10,6,4,
A 0
B) 1
€ 2
D) 3

Select the number that can replace Q75

the question mark (?) in the

following series.

6, 10, 19, 35, 60, ?

(A) 85
(B) 92
(C) 96
D) 97

PAPER-4 SERIES-DC

Q74 €7 Aftpyr & 9= a9, 7 I &3t BT

S wdt & (__) 3 vt

34,18,10,6, 4,
(A) O
(B) 1
(C) 2
(D) 3

gg Aftmr gE 7 I 3 B4t Ko
i fdg (7) & 5 8 7l

6,10, 19, 35, 60, 7

(A) 85
(B) 92
(C) 96
(D) 97



SECTION-4 : Language Skills (Punjabi/ English) / 3791-4 : 3THE € g&d (UnATsl wiadwh)

Q76 Select the most appropriate SYNONYM of the given word.
| SIGNIFICANT
(A) energetic
(B) important
(C)  lustful

(D) static

Q77 Choose the correct option which can substitute the highlighted words.

Aamir Khan’s movie, ‘Lagaan’, was a true representation of a system of one
country ruling other countries. The film showcased how the English increased

their influence over the Indians over a period of time.
(A) Internationalism

(B) Communism

(C)  Imperialism

(D) Communalism

Q78 Read the following sentence and identify the part that has an error.
A lot of people / in my country /prefers / tea to coffee.
(A) Alotof people
(B) in my country
(C) prefers

(D) teato coffee

R R REee——™////  ———— ——
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Q79 foH AET T AJ wiatH W ot 37

(A) Personnel
(B)  Personal
(C) Personel

(D) Persona

Q80 Given here are six parts of a sentence. S1 and S6 are the first and the last part,

respectively. The rest of the parts, namely a, b, ¢ and d are jumbled. Select the

option that gives their correct order.
S1: Shakespeare is known as ‘

a. to a black lady

b. and his friend;

c. the bard of avon;

d. his sonnets are addressed

S6: whose source is still unknown to many.

(A)  dcab
© (B) abed
(C)  dbca
(D) bead

5

R RO RRRERrAeeeeeee}™m™——— ]
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Read the following passage carefully and answer the given questions from Q 81 to

Q85

For four days, I walked through the narrow lanes of the old city, enjoying the
romance of being in a city where history still lives - in its cobblestone streets and its
pec;ple riding asses, carrying vine leaves and palm as they once did during the time of
Christ. This is Jerusalem, home to the sacred sites of Christianity, Islam and Judaism.
This is the place that houses the church of the Holy Sepulcher, the place where Jesus
was finally laid to rest. This is also the site of Christ's crucifixion, burial and

resurrection.

Built by the Roman Emperor Constantine at the site of an earlier temple to
Aphrodite, it is the most venerated Christian shrine in the world. And justifiably so.
He;e, within the church, are the last five stations of the cross, the 10th station where
Jesus was stripped of his clothes, the 11th where he was nailed to the cross, the 12th

where he died on the cross, the 13th where the body was removed from the cross, and

the.14th, his tomb.

For all this weighty tradition, the approach and entrance to the church is non-
devout Christian pilgrims walking, along the Via-Dolorosa -The Way of Sorrow — the
first nine stations looking clueless. Then a courtyard appears, hemmed in by other

buildings and a way doorway to one side. This leads to a vast area of huge stone

architectures.

S
e
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Immediately inside the entrance is your first stop. It's the stone anointing: this is

the place, according to Greek tradition, where Christ was removed from the cross. The
Roman Catholics, however, believe it to be the spot where Jesus' body was prepared for

burial by Joseph.

What happened next? Jesus was buried. He was taken to a place outside the city
of Jerusalem where other graves existed and there, he was buried in a cave. However, all
that is long gone, destroyed by continued attacks and rebuilding; what remain is the
massive - and impressive - Rotunda (a round building with a dome) that Emperor

Constantine built. Under this, and right in the centre of the Rotunda, is the structure that

contains the Holy Sepulcher.

At the start of the first centu‘ry, the place was a disused quarry outside the city
walls. According to the gospels, Jesus' crucifixion occurred at a place outside the city
walls with graves nearby...". Archaeologists have discovered tombs from that era, so the
site is compatible with the biblical pc?riod. The structure at the site is a marble tomb built
over the original burial chamber. It has two rooms, and you enter four at a time into the
first of these, the Chapel of the Angel. Here the angel is supposed to have sat on a stone
to recount Christ's resurrection. A low door made of white marble, partly worn away by
pilgrims' hands, leads to a smaller ¢hamber inside. This is the 'room of the tomb', the

place where Jesus was buried. We entered in single file. On my right was a large marble

slab that covered the original rock bench on which the body of Jesus was laid.

R R R RRieeee—/—™™m  —— — — — ]
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Q81 Which structure has sustained even after continual attacks?
(A) Chapel of Angel
(B) Room of Tomb
(C) Rotunda

(D) Dolorosa

Q82 Who built the Holy Sepulcher?
(A)  Julius Caesar
(B)  Constantine
(C)  Aphrodite

(D)  Jesus Christ

Q83 Find the word in the passage which means 'rebirth'.
(A) Crucifixion
(B) Hemmed
(C) Massive

(D) Resurrection

e ]
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Q84  According to Roman Catholics who buried Jesus Christ?

(A) Peter
(B) Mathew
(C) Thomas
(D) Joseph

Q85 Why did the pilgrims enter in a 'single file' in the 'Room of Tomb'?
(A) There was a large marble slab
(B) It was the original burial chamber
(C)  The room was very small

(D) To pray personally

Q86 ‘A I Haer I° B8 fod HEE TR

(A)  WHEI
| (B) A
(c) feees
(D) I |
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Q87 Mgt ol I, HI'=S § HAHS 3

(A) T<g
(B) o=l
(C) 39

(D) fauat

Q88 I fBimfes Ho Aee g2|

v

(A) U33
(B) u3<e
(C) f33
(D) ufB3

Q89 ‘Mention’ HEE T AJ Ursh wigere &t 372

(A) €3y

(B) TIT"
(C) TS
(D) =Ifa3
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Q90 foi © B8 3w args Wa-Hd 7'e &8 AfU3 HI<d' ge|

(A) HIE U 83

(B) fi3wg S8 7y Hea

(C) SB& AHEE

(D) HIHIE
o e TeB § s B UI W3 Y 91 Ty 95 Fa © €33 €

UArshTeT A 3 237 o @9-A3t J1 ofgd’ wiEs &% for aH feg g3t AgfesT
a3 fors™ T fies g% Ay J famr ug fUg < Hsel € A9 Y33t fegarg €3 © fge+
& oo i €8 It wumr 3N gE A9 99 Wed © fHfgwmfmmefenr § feds a9 It
3 3 for S feg UAT At E& 3 widt Il

28 A3 3 S 3 fimidt SRS = I, fAR T =9aE < feg & wEer I g1
Vg, 88, W, Haft wife ol ST yaEMIERST 6! Bfaat ® WiEE '8 Ju'd, B8,
aHe 3 J9 IR 2ol TEMERS © fged 2u famr 3 3 for @8 fars T Ha 203 o
eRst feg I

& T3 Yfifd Io| forafeds A33 AR fER g3 T YIiee" Sgemmges:

< fos we HigeET,

g HIgE Hea © 573|
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Q91 Urre feg afggt Wil @ ot &9 I6?
(A) faAst T dles vy

(B) Sudla §3UuTs

(C) dHag feg gaee

(D) BIET TEWEAST T TTHI
Q92 for 03 © fAgdy ot 37

(A) JTHATS T AlS

(B) I T fdew
(c) JUAgdast
(D) UAg < I3t

Q93 I3 T s fedussT &t J7?
(A) HeS &S HIge
(8) IIAHGE
() <fesHge

(D) SRS T NI
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Q9l1 g € A8 3 imrdt ers famer faag 2Tt feg <@ wifer 3, fagdt 37

(A)  Hait

(B) M
(c) =
(D) Sug

Q95 UAsETET Hy fof3T ot 37

(A) g T ast

(B) 93t-=Hr

(C) w&Tasdt

(D) U T aSt

SECTION-5 :Digital Literacy and 91 - 5 ; f3He® AHI3™ W3 ANga3"
Awareness a
Q96 scripting is used to create Q96 Afquféar & =93 e

dynamic webpages. 29 U7 ge@E 9 &St Al I

(A) Web ' (A) =9 (Web)

(B) Dos (B) 3H (Dos)

(C)  Cobol (C) =S (Cobol)

(D) VB (D) <= (VvB)
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Q97 In MS Excel 2019, which of the Q97 MS Excel 2019 &g, Ja' fefswfST

following keystroke is used to select fJga of-Aedd © =33 i3 aaH
the cell above in the same column? g Guad A § Addc J36 BE
‘ 3T A 7
(A) Enter
(A) Enter
(B) Tab
(B) Tab

(©) Shift + Enter (C) Shift + Enter

(D)  Shift + Tab (D)  Shift + Tab

Q98 Which of the following is correct Q98 dIJat IS fagar dfufca &%

" regarding text mode interaction 2aAc N3 fiscdans © Ay €9
with computer? AJT I?
L. Cumbersome . JEIAH
II.  Time consuming . rfar JefagfHar
[I. Limited in scope of . IJged @ gdd 839 g
operation HIHZ
(A) TandII : (A) 13l
¢ (B) IMandIII (B) 3
(C) TandIII () I3
(D) I, IIandIlI | (D) 1 Il

%

————————————————————
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Q99 You have accidentally deleted a Q99 3IAT fezgdemmdt ffa Ag=g fie

slide. With which shortcut key of f&3t 31 MS PowerPoint 2019 &t
MS Power Point 2019 you can get it fagdt mdcde-at &8 3IA fomd
back? ' TEI YU3 JJ AIe I?

(A) Ctrl+Z (A) Ctrl+2Z

(B) Ctrl+B (B) Ctrl+B

(C) Alt+Z (C) Ait+Z

(D) Alt+B (D) Alt+B

Q100 Which of the following is NOT an Q100 J&' fefimfes fagzr fia wgede

output device? fg=fen &t 37
(A) Keyboard | (A) =3
(B)  Projector (B) Yrsed
(C)  Monitor (c) MNaleg
(D) Plotter ' (D) uBcT
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Rough work / 9@ €dd

%
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Read the following instructions carefully: 35 gon gefest § firs a8 uF:

1. Out of the four answer options given for each question, | 4 T3 s w8 R e T feamur Y, @itees & g 59
Candidate has to be darkened only one option as answer e 3 a8 g5 unfie 5 a5 328 T feasy & 6339 = aar
on the OMR Answer Sheet. The answer once marked can 95T I @awvmﬁjmg@ﬁawm;;rmq
not be changed. 4 ) o

2. The candidate should ensure that the OMR Answer Sheet | 2. vieear § fog welidt se@e Trdter 3 fa €39 Fie yat & =
is not folded. The candidate should not make any stray Siess § €39 e '3 foug-Gue I & fors &t BIrgE
marks on the OMR Answer Sheet. The candidate must gl @feTe § € €33 Hie e fsgues = 3
not write the Roll No. at any other place except the fogrer J9 o3 & wrier I8 89 Bt fave gdter
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test | 3. @iweg & owdt Hie &g At w3 6t 2re Sad< dug w3 Sre
Booklet No. & Test Booklet Series in attendance:sheet as gagzmg]gfgqggg}ﬁéﬂggaggggqagam
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever | 4. &35 evrar Hdt Ae 3 Svieeg § wier TgT 998 fedger
it is demanded by the Invigilator. JT|

5. Candidate is not allowed to leave the seat/ test center | § fsgms wF deg @ puIse 3 ferm wiamr &8 fa, I8 &
without taking special permission from Invigilator or Ofeeg wwéﬁe/méeaa?ﬁézm/ml
Center Superintendent.

6. The candidate is not allowed to leave the 1"est Hall | 6. &viees § @t gwet Fie 3 grsaa i3 fas' w3 €39 Hie
without signing on attendance sheet & handing over 383 foums & A faw™ iftmr o8 3 =99 7e & wiiamr ot
OMR Answer Sheet to the Invigilator. 3

7. Use of Pencil/Electronic/Manual Calculator is prohibited. | 7. Yot/ fededfes/ ons desdes & 293 596 & Hordt 3

8. The candidates are governed by all Rules and | 8. Lﬁﬁ»ﬂmﬁg@weméﬁa‘uﬁg@ﬂmmm
Regulations of the Recruitment Board with régard to II3 993 T A fomt w3 fefomit wilts J=dt| wefes Sa1 2
their conduct in the Examination Hall. All cases of unfair AS HHfEW §333‘Yé83é%ﬂwm€(f‘eﬁsurwm§ﬂ'af?§uzw
means will be dealt with as per Rules and Regulations of T
the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury | 9. Jifimr w31 Iz 3 =mie, Sriees wEl @hing €39 Hie,

Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.
%

10. The Candidates are required to submit the Test

Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal

for future references within 24 hours after last shift of

examination is completed.

yeT @e3d & andt fsags & TuR SSar/aeh| feaes €8
rieeg & G g andt fise 3 g It Siieea i I8

&3 Aae J|

10. 1fifemr 3 ge itea § gt 202 Hade fsaas 38 mff

FJg<get I

11. fuzdt Yifemr fitee @ yais I 3 24 fen’ @ wied-wied 533t

Iges §3 sfad gefen 88 yrs Y33 Gussg I
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